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XI                  P-1: messurement PHYSICS 

   

 

             

1. Light year is a unit of  …  

      1)Time 2)Mass 

      3)Distance 4)Energy 

2.   Unit of power is  

 1)Kilowatt 2) Kilowatt-hour 

 3)Dyne 4)Joule 

3. Density of wood is ccgm /5.0  in the CGS system of 

units. The corresponding value in SI units is… 

      1) 500 2) 5 

      3) 0.5  4) 5000 

4. Which of the following is a derived unit …  

 1) Unit of mass 2) Unit of length 

 3) Unit of time 4) Unit of volume 

5.   Dimensional formula 32 TML  represents… 

      1)Force 2)Power 

 3)Energy 4)Work 

6.  The dimensions of universal gravitational constant 

are  …    

      1) 222  TLM  2) 231  TLM  

 3) 21  TML  4) 22 TML  

7.  The dimensions of power are … 

      1) 321 TLM  2) 212 TLM  

      3) 121 TLM  4) 211 TLM  

8   The dimensional formula for impulse is … 

       (a) 2MLT  (b) 1MLT  

       c) 12 TML  (d) 12 LTM  

9.   The velocity of a freely falling body changes as 
qphg  where g is acceleration due to gravity and h  

is the height. The values of p  and q  are …   

      1)  
2

1
,1  2)  

2

1
,

2

1
         

 3)  1,
2

1
 4) 1,1  

10.   Dimensions of frequency are  …  

      1) 010 TLM   2) 100 TLM  

       3) TLM 00  4) 2MT  

11.   The dimensions of pressure are … 

  1) 2MLT  2) 22TML    

  3) 21  TML  4) 2MLT  

12.   Dimensions of kinetic energy are  … 

       1) 22 TML  2) 12 LTM  

3) 12 TML  4) 13 TML  

13.  Dimensions of potential energy are  …  

 1) 1MLT  2) 22 TML  

 3) 21  TML  4) 11  TML  

14.  Density of a liquid in CGS system is 0.625 3/ cmg . 

What is its magnitude in SI system …  

 1) 0.625 2) 0.0625 

 3) 0.00625 4) 625 

15. The percentage errors in the measurement of 

mass and speed are 2% and 3% respectively. 

How much will be the maximum error in the 

estimation of the kinetic energy obtained by 

measuring mass and speed …  

 1) 11% 2) 8% 

 3) 5% 4) 1% 

16. What is the number of significant figures in 

0.310×103  … 

 1) 2 2) 3 

 3) 4 4) 6 

17. Error in the measurement of radius of a sphere is 

1%. The error in the calculated value of its 

volume is …   

 1) 1% 2) 3% 

 3) 5% 4) 7% 

18. The radius of a sphere is (5.3  0.1) cm. The 

percentage error in its volume is .. 

 1) 100
3.5

1.0
  2) 100

3.5

1.0
3   

 3) 
53.3

1001.0 
 4) 100

3.5

1.0
3   

19. The period of oscillation of a simple pendulum in 

the experiment is recorded as 2.63 s, 2.56 s, 2.42 

s, 2.71 s and 2.80 s respectively. The average 

absolute error  is  … 

 1) 0.1 s 2) 0.11 s 

 3) 0.01 s 4) 1.0 s 

20. According to Joule's law of heating, heat 

produced 2IH  Rt, where I is current, Ris 

resistance and t is time. If the errors in the 

measurement of I, R and t are 3%, 4% and 6% 

respectively then error in the measurement of H 

is … 

1)  17% 2)  16% 

3)  19% 4)  25% 
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21. If there is a positive error of 50% in the 

measurement of velocity of a body, then  the 

error in the measurement of kinetic energy is … 

1) 25% 2) 50% 

3) 100% 4) 125% 

22. The number of significant figures in all the given 

numbers 25.12, 2009, 4.156 and  410217.1   is ...  

1) 1 2) 2 

3) 3 4) 4 

23. Error caused due to minute change in 

experimental  condition is …  

1) random error 2) systematic error 

3) instrumental error 4) absolute error 

24.  Mass of electron is 9.11 x 10-31 kg, its order of 

magnitude is…. 

 1)-28 2) -30 

3) -31 4) -32 

25.    Which of the following is not a fundamental  

quantity … 

 1) thermodynamic temperature      2) force                                              

 3) luminous intensity           4)amount of substance 

26.    Which of the following is a derived unit? 

   1) Newton                      2) Joule 

   3) Volt                            4) all of this 

27.    Ratio of mean absolute error to true value is .. 

          1) mean error                    2) relative error 

          3) absolute error               4)systematic error 

28.     Physical quantity which do not depend on other  

quantities for their measurements are Called 

as… 

   1) fundamental quantities    2) derived quantities  

         3) system of units                4) SI units  

 29.    Accuracy of the measurement is determined by   
          1) absolute error               2) percentage error  

          3) instrumental error        4) mean value    

30.    The length, breadth and thickness of a block are 

given by cmbcml 6,12   and cmt 45.2 The 

volume of the block according to the idea of 

significant figures should be …   

1) 32101 cm  2) 32102 cm  

3) 3210763.1 cm  4) 2.5 x 1o3 cm3 

31.   Position of a body with acceleration 'a' is given 

by ,nm tKax  here t is time. Find dimension of m 

and n.     

 1) 1m , 1n  2) 2,1  nm  

3) 1,2  nm  4) 2,2  nm  

32. The pressure on a square plate is measured by 

measuring the force on the plate and the length 

of the sides of the plate. If the maximum error in 

the measurement of force and length are 

respectively 4% and 2%, The maximumerror in 

the measurement of pressure is  

         1) 1% 2) 2% 

3) 6% 4) 8% 

33. The surface tension of a liquid is cmdyne /70 . In 

MKS system its value is  

         1) mN/70  2) mN /107 2  

  3) mN /107 3  4) mN /107 2  

34. Which of the following pairs of physical quantities 

has the same dimensions … 

  1) Work and power 2) Momentum and energy 

  3) Force and power 4) Work and energy 

35.  Which of the following quantities has the same  

dimensions as that of energy  …  

  1) Power 2) Force 

  3) Momentum 4) Work 

36) Which of the following is dimensionally correct? 

  1) pressure – energy per unit area 

  2) pressure = enersy per unit volume 

  3) pressure = force per unit volume 

 4) pressure = momentum per unit volume per unit   

time 

37) The units of length, velocity and force are 

doubled which of the following is the correct 

change in the other units ? 

 1) unit of time is doubled  

 2) unit of mass id doubled 

 3) unit of momentum is doubled 

 4) unit of energy is doubled 

38) A force is given by F = at + bt2, where t is time 

the dimensions of a & b are … 

 1) [M1L1T-4] and [M1L1T1]  

 2) [M1L1T-1] and [M1L1T0] 

 3) [M1L1T-3] and [M1L1T-4] 

 4) [M1L1T-3] and [M1L1T1]  

39) In the SI uit, the unit of temperature is  … 

 1) degree centigrade  2) Kelvin 

 3) degree Celsius  4) degree Fahrenheit 

40) The dimension’s of impulse are equal to that of 

 1) force  2) linear momenutum 

 3) pressure  4) angular momentum 

41) The number of significant figures in …  

 11.118 x 10-6V is 

 1) 3  2) 4 

 3) 5  4) 6 

42) What is the number of significant figure in  

 (3.20 + 4.807 ) x 105 … 

 1) 5 2) 4 

 3) 3 4)2 

43) The radius of a ball is (5.2 ±  0.2) cm. The 

percentage error in the volume of the ball is 

approximately … 

 1) 11 % 2) 4% 

 3) 7 % 4) 9 % 

 

44) Which of the following is NOT a character ristic 

of good unit ? 

 1) It is invariable 2)  It is reproducible 

 3) It is perishable 4) It is easily available 
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45) Out of the following units, which is NOT a 

fundamental unit ? 

 1) newton 2) second  

 3) pound 4) kilogram 

46) An atomic clock makes use of … 

 1) cesium 133 atom 2) cesium 132 atom 

 3) cesium 123 atom 4) cesium 131 atom 

47) The radius of the earth is 6400 km, the order of 

magnitude is … 

 1) 102 m 2) 103m 

 3) 104 m 4) 107m 

48) The number of significant figures in 50.00 is … 

  1) 1 2) 2 

 3) 3  4) 4 

49) The percentage error in the measurement of 

length and time is 2% and 1% respectively the 

percentage error in the measurement of ‘g’ is .. 

 1) 2 % 2) 3% 

 3) 6% 4) 4% 

50) The number of significant figures in all the given 

number 25, 2.9, 4.0 and 1.2 x 10-4 is …  

 1) 1 2) 2 

 3) 3 4) 4 

50) The number of significant figures in all the given 

number 25.12, 2009, 4.156 and 1.217 x 10-4 is …  

 1) 1 2) 2 

 3) 3 4) 4 
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